
Sketch 𝜽𝒔𝒕𝒑.

150௢ 210௢

Find 𝜽𝒓 𝐟𝐨𝐫 𝐞𝐚𝐜𝐡 𝜽𝒔𝒕𝒑

𝜃௦௧௣ =  150௢

𝜃௦௧௣ = 220௢ 𝜃௦௧௣ =  65௢

𝜃௦௧௣ = 315௢

Sketch 𝜽𝒓

30௢ In Quadrant I 70ை In Quadrant II 20௢ In Quadrant III 45௢ In Quadrant IV

−75௢ 350ை

𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝒔𝒎𝒂𝒍𝒍𝒆𝒔𝒕 𝒑𝒐𝒔𝒊𝒕𝒊𝒗𝒆 𝜽𝒔𝒕𝒑 𝒇𝒐𝒓 𝒆𝒂𝒄𝒉 𝜽𝒓

𝜃௥ = 35௢

𝜃௥ = 55௢ 𝜃௥ = 42௢

𝜃௥ = 60௢

C11 - 2.1 - 𝑆𝑘𝑒𝑡𝑐ℎ, 𝐹𝑖𝑛𝑑 𝜃௥, 𝜃௦௧௣ 𝐻𝑊
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𝑭𝒊𝒏𝒅 𝒂 𝒏𝒆𝒈𝒂𝒕𝒊𝒗𝒆 𝜽𝒔𝒕𝒑 𝒇𝒐𝒓 𝒆𝒂𝒄𝒉 𝜽𝒓

𝜃௥ = 35௢

𝜃௥ = 55௢ 𝜃௥ = 42௢

𝜃௥ = 60௢

𝑭𝒊𝒏𝒅 𝒂 𝒑𝒐𝒔𝒊𝒕𝒊𝒗𝒆 𝒂𝒏𝒅 𝒏𝒆𝒈𝒂𝒕𝒊𝒗𝒆 𝜽𝒄𝒐𝒕 𝒇𝒐𝒓 𝒆𝒂𝒄𝒉 𝜽𝒔𝒕𝒑

𝜃௦௧௣ = 135௢ 𝜃௦௧௣ = −55௢

𝜃௦௧௣ = 230௢ 𝜃௦௧௣ = 50௢

C11 - 2.1 - 𝑆𝑘𝑒𝑡𝑐ℎ, 𝐹𝑖𝑛𝑑 − 𝜃௦௧௣, 𝜃௖௢௧ 𝐻𝑊
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